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Question 1.Pick the Antonym for the word "NASTY"
Options:

a) sad

b) clean

c) filthy

d) challenging

Correct Answer: clean

Question 2.A person who is an Incharge of a Museum or an Art-Gallery
Options:

a) Invigilator

b) Anarchist

c) Curator

d) Superintendent

Correct Answer: Curator

Question 3.Mark the most appropriate substitute to fill the blanks in the given description :
He was caught by the teacher for cheating the exam.

Options:

a) During

b) After

c) Near

d) Outside

Correct Answer: During

Question 4.Change the following sentences into passive voice :
Darjeeling grows tea.

Options:

a) Let the tea be grown in Darjeeling.

b) Tea is grown in Darjeeling.

c) Tea grows in Darjeeling.

d) Tea is being grown in Darjeeling.

Correct Answer: Tea is grown in Darjeeling.

Question 5.The first two words are related in a particular manner. Select the word from given choices, which is related to third one in the same manner :
PAIN:SEDATIVE ::grief

Options:

a) consolation

b) ache

c) trance

d) stimulant

Correct Answer: consolation

Question 6.Choose the word which is the exact OPPOSITE of the given words:
PRECARIOUS

Options:

a) menacing

b) threatening

c) secured

d) unsafe

Correct Answer: secured

Question 7.Choose the appropriate word in the blank from the given alternatives.
" One should not be indiffrent the suffering of others

Options:

a) about

b) to

c) of

d) at

Correct Answer: to

Question 8.Choose the correct plural of the following word:
Negro
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Options:

a) Negries

b) Nigger

c) Negros

d) Negroes

Correct Answer: Negroes

Question 9.Choose the word /group of words which is similar in meaning to the word.
Eulogize

Options:

a) Harm

b) Praise

c) Extract

d) Penalise

Correct Answer: Praise

Question 10.Choose the appropriate options to complete the sentences: drawings is different.
Options:

a) Each one of the

b) Very few

c) Every

d) All of

Correct Answer: Each one of the

Question 11.Which Bank launched India's first MUDRA card under Pradhan Mantri Mudra Yojana

59 S 7 Yy Go1 Do & d8d YR & U8 0ol B8 BT YURY fbar
Options:
a) Corporation Bank

b) State Bank of India
YR Ve d5

c) Central Bank

Jed 9%

d)AReserve Bank of India

UReg Rd S

Correct Answer: Corporation Bank

Question 12.0n which date, Telangana state Foundation Day is observed?

g G 1 AT o ITHT e HeT Sl 82
Options:

a) 30-May

30 1%

b) 31-May

3178

c) 2-Jun

29[

d) 4-Jun

45T

Correct Answer: 2-Jun

291
Question 13.Union Telecom Minister Ravi Shankar Prasad announced that a postal stamp would be released in honour of erstwhile Indian emperor

FEtT IR HA AR UG 7 6 Yaud W THTe & G H ST e SR A B oo 31 82
Options:

a) Akbar

PR

b) Ashoka

Kk

c) Bahadur Shah II

§gIgr XTe 11
d) Shah Jahan

Correct Answer: Ashoka

Question 14.Which of the following is a primary colour?

T A HH I ude e
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Options:
a) pink

b) black
Ean|l

c) red
ol

d) white

Correct Answer: red
SIS

Question 15.Galvanized iron is iron coated with

SRAER AR W fue! tRd Ters oIt 8
Options:

a) zinc

Sl

b) gold

T

c) silver

d) copper

RISl

Correct Answer: zinc
STl

Question 16.Whose signature is found on the one rupee currency notes ?

T YYD e W 5T P gERREA § ?
Options:
a) The President

b) The Finance Minister

c) The Governor of Reserve Bank
Ro1d 9% & IR

d) The Finance Secretary

faa wfa

Correct Answer: The Finance Secretary

Question 17.0n which of the following plants did Gregor Mendal perform his classical experiment?

froffea & § frg 08 R IR Hea 7 sromm ulig wam famam ur 2
Options:

a) Maize

HIhT

b) Pea

AR

c) Wheat

d) Gram
ELll

Correct Answer: Pea
HR

Question 18.Which organ of the body is affected by Leucoderma ?

Options:

a) Heart

b) Kidney

c) Lungs

d) Skin

Correct Answer: Skin

Question 19. What is the present Loksabha Constituency of Sushma Swaraj?

AT TR BT T AHTH Haf- P I ?
Options:

a_) Ambala

STl

b) Delhi

c) Bellry

d) Vidisha

Correct Answer: Vidisha
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Question 20.The European Union adopted which of the following as common currency

R gfae grT Fafofea o @ S 1S smy gut

Options:
a) Dollar

b) Peso
o

c) Euro
d) Yen

9q

Correct Answer: Euro

Question 21.The real part of sin (x + iy) is -

sin (x + ly) T AP YT § -
Options:
a) sin x cos y

b) sin x cosh x
c) cos x sinh y

d) cos x siny
Correct Answer: sin x cosh x

Question 22.Two or more vectors are said to be if they are parallel to the same line, irrespective of their magnitudes and directions.

AU Y afle IRy HEAN § afe wET SR 7 & PRy g gr it 3 TwieR €
Options:
a) EQUAL VECTORS
THad daex
b) COINITIAL VECTORS
JFRR

c) COLLINEAR VECTORS
DA daex
d) None of the;e

FRERE SR

Correct Answer: COLLINEAR VECTORS

Question 23.
: [-1 2
Then product of A and B matrix ;m=|; ; g and B=|3 4 | then
) L4 -3
-1 2
o1 HeRTd ITA:;;;andS=3 4 | then T IAOHTH
J |4 -3

Options:
a)

i 2

-3 4
b)

3 -8

_4 1 l
)

&

5
d

1 2 =1

2 0 5

3 1 &

orrect Answer:

& i

S 0
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Question 24.At what point on curve y=(cosx-1) in { 0, 2n } is the tengnt close to x axis

{o,2n }ﬁaﬁy=(cosx-1) %WWWW@@WX-H&I%WW |
Options:

a) (n/2,-1)

(n/2,-1)

b) (n, -2)

(n, -2)

c) (2n/3, -3/2)

(2n/3, -3/2)

d) None of these
ESEEEE R

Correct Answer: (n, -2)
(nl -2)

Question 25.In the equation of staright line y=mx +c, m is

X1 & g IR y=mx +c A m BB :
Options:
a) Qradient

I?) Intercept

c) Variable

d) None of these
H q BIS el

Correct Answer: Gradient

Question 26.The area under a curve between two points can be found by doing a between the two points.
3l fogell & &9 Ue oo &1 o & d ol [agsl & o PP T o W1 § |
Options:

a) Integration

b) definite integration
Sikfe 3

c) differentiation

d).L Hospital Rule
T gikyed em
Correct Answer: definite integration

Question 27.If the order of matrix A is m x p. And the order of B is p x n. Then the order of AB is

Tefa A BT 3178 m x p 3R HeRaq B &1 TSR p x n 81 d R AB &1 TSR R
Options:
a)nxp

b) nxm
cmxp

d)mxn
Correct Answer: m x n

Question 28.If x=rcosB, y=rsin 6 then z=x + iy

afe
Options:
a) r(coseb + sinB)

b) r(coseb + isinB)

c) r(coseB sinB)

d) r(coseb - sinB)

Correct Answer: r(cosed + isin®)

Question 29.Find the derivative of x"

X &1 Slanied FHevet
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Options:
a) nxv1

b) nxtl
c) -nx"1
d) nx"2

Correct Answer: nx"!

Question 30.
J’ COS X
1+ sinx
Options:
a) log (secx - tanx) + log cosx +c
b) log (secx + tanx) + log cosx +c

c) log (secx + tanzx) + log cosx +c
d) none
Correct Answer: log (secx + tanx) + log cosx +c

Question 31.The distance between the parallel lines 4x+6y+4=0 and 4x+6y+5=0 is

4x+6y+4=0 and 4x+6y+5=0 &1 THTR Y@ §. S7& o9 B g
Options:
a)l/v52

b) v 52
c)1/vV2
d)1

Correct Answer: 1/ V52

Question 32.
X
J a dx

Options:
a)

x

+c

loga

b) aX +c
c) Log a +c

d)

Correct Answer:
&

a
—+¢
loga

Question 33.The two types of errors that are related to differentials are:

ST Rre ¥ 9afid & R & TR
Options:
a) Human, Absolute.

BUHA,
b) Absolute, Relative.

c) Relative, Controllable.

d) Controlfable, Natural.
~ 5 E r I;E
Correct Answer: Absolute, Relative.

’
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Question 34.The 2nd derivative of a function at point P is 0, and concavity is positive for values to the right of P. What must the concavity be to the left of P for P to be
an inflection point?

TH BHRM H g P TR GIRT SRART 0 7, 3R P F </ 3R & AF & o 4F1cA® § | P bl STH Qb o §iH 3 1oL P b S18 3TR idbTafaet 31 3T /1 g ?
Options:
a) The concavity must also be positive.
[ YITHD
b) The concavity must be negative.
HIBIA FUTES & g1 TRTY
c) The concavity must be neutral (0).
Pihiac! TSI (0) BT EH
d) The concavity must be imaginary.

Correct Answer: The concavity must be negative.
BUTES 8l g =Y

Question 35.1t has been determined that g(p) has a maximum at p = -47.6. What can be said of the function's concavity at that point?

p = -47.6 R g(p) F1 TH 3ifAipan Ruflka T | 39 fog W Hore ot Hiefafact & favg o 1 HeT ST Jhar 2 |
Options:

a)g"(p)=0

b)g"(p) >0

c©)g"(p)<0

d) There's no way to tell without first knowing what the specific function is.

Wb o 1], 39 Ugd 9T o1 S T His I a1 8 |

Correct Answer: g "(p) <0

Question 36.The partial differential equation
xy(3z / 3X) = 5(3%z / dy?)
is classified as

IRRE SRR wHiwR
xy(3z / 8x) = 5(3% / 3y?)
ol far e W g :
Options:

a) elliptic

b) parabolic

TRaTeid

c) hyperbolic

FHEEEIIRED

d) none of these
P el

Correct Answer: parabolic

Question 37.The necessary condition for an admissible function to have an extremum of I[y(X)]=fx1*2f(X,y,y")dx are

Iy(x)]=fx*2f(%,y,y')dx 3 CHISHH & oI e beIe ¢ :
Options:
a) y(x1)=y1,Y(x2)=y2

b) y'(x) must be continuous
y'(x)
c) y"()g) must be continuous

y'(x)
d) All of these
SR T+t

Correct Answer: All of these

Question 38.Let H=Z; x Zg and K=Z3 x Z4. Then

e H=2Z, x Zg 3R K=23 x 2481, &
Options:

a)H=K

b) H = K, since Z,,Z3,Z4 and Zg are cyclic.

c) H and K are not isomorphic.

H 3R K SaImifthe T8t 3 |

d) Hand K are not isomorphic, since their identities are not equgl.
i M eI B, 91 H R K

Correct Answer: H and K are not isomorphic.

H 3R K SOHIthe TEi & |

Question 39.How will the fundamental frequency of a wire change if the tension is halved and the area of cross section doubled?

I ot TR T AT ST AT ST BIe BT & G IR a1 oI o) dR 1 Aifdies angfy & am uRad g 2
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Options:

a) It will be halved
et g1 S

b) It will be doubled
I Bl S

c) It will remain same

d) It will become one-fourth

T — =T 38 S

Correct Answer: It will be halved

et g st

Question 40.Laser light is emission.
TOR BT IR

Options:

a) Coherent

%

b) Stimulated

c) Spontaneous

Wd: -

d) Coherent and stimulated

TG IR e

Correct Answer: Coherent and stimulated
TG IR e

Question 41.Isotopes are atoms that have

SN § TRAY] & e

Options:

a) Same atomic number but different atomic mass

TRETY] TS T &) gt At i TRy A & B &

b) Same atomic mass but different atomic number

T &) TR R o TR = ORuT] WRe % g &

c) Same Number of Protons but different number of electrons
T &1 T T § @l TR Saae g Bl e ST

d) None

B Tl

Correct Answer: Same atomic humber but different atomic mass

TRETY] TR T & gt AT =T TRATY] AR & BN &

Question 42.Isotopes are atoms that have

LTI I URATY] § i

Options:

a) Same: atomic number but different atomic mass !
TR} T U &Y gl AT T o] IRy & 8

b) Same atomic mass but different atomjc number ]

T € URA] M o AR =T IRAT] TR F B §

c) Same Number of Protons but different number of electrons
WY &1 T U 8 Wl TR Soaeg &l e ST

d) None

Correct Answer: Same atomic number but different atomic mass

TRATY] AT T & gl difebet T o Iy & 8 &

Question 43.Sound cannot travel through
T @ HT YR TR g g

Options:

a) Gases

b) Vacuum

c) solids

gq

d) Liquids

a_d

Correct Answer: Vacuum

RS

Question 44.candela is the unit of

HS DR & :
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Options:

a) Magnetic flux

e W

b) Intensity of electric field

fagua &= @ SR
c) Luminogs intensity
d) Charge

=

Correct Answer: Luminous intensity

Question 45.Magnetic induction and magnetic flux differ in the dimensions of

_ feierswEae |

NIRes SseH iR Tfes T o
Options:

a) Time

a9y

b) Mass

SHIAM

c) Electric current

fargae emr

d) Length

Correct Answer: Electric current

fagad urr
Question 46.Sum of these is unity

ST SIS &1 HH ST Bl € |
Options:

a) Reflectivity

TRETH

b) Reflectivity + Refractivity
+

c) Reflectivity + Refractivity + Transmitivity
+ 3(Ta+ T

d) Any

oig ot

Correct Answer: Reflectivity + Refractivity + Transmitivity
+ +

Question 47.Refractive index of materials is approximately equal to square root of

Uer T S S T FREREAE |
Options:
a) electrical permittivity

b_) magnetic permeability
c) electrical permittivity x magnetic permeability

X
d) None

Correct Answer: electrical permittivity

Question 48.Quantity which does not changes during refraction is

ORHTOT St 3UFe & SR T8} Seadi @ :
Options:
a) direction

b) speed
T
c) frequency

d) wavelength

Correct Answer: frequency

Question 49.Speed of light in water is
USRI &t o | T
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Options:
a) 3.0 x 108

b) 2.3 x 108
c) 2.0 x 108

d) 1.2 x 108
Correct Answer: 2.3 x 108

Question 50.Smallest particle of an element which can take part in any chemical change.

T P IS AT B S AR Tl U 3 bt B
Options:
a) nucleus

b) atom

ucH
c) proton

d) neutron

Correct Answer: atom
TcH

Question 51.An Electric field deflects beams of

fAg@as_ Fifimose wxarg |
Options:
a) protons

b) electrons

c) neutrons

d)Aboth protons and electrons

el 3R
Correct Answer: both protons and electrons

Question 52.Potential energy source for inducing fusion reaction is

e RUHE &) S8 FA & R iR i e g
Options:

a) x-ray

X- a0

b) laser

c) ultraviolet

d) microwave

Correct Answer: laser

Question 53.During x-ray formation, if voltage is increased then

x Y BRARH & ERF, el & 9611 oIl § ad
Options:
a) min wave length decreases
TAqH T ¢ gedi |
b) min wave length increases
T T & T B |
c) intensity dgcreases
A |
d) intensity increases
LR TEl 7 |
Correct Answer: min wave length decreases

TATH T o gedi 7 |

Question 54.For an electron to be confined to a nucleus its speed relative to speed of light would have to be

A B YfFaad T HHIE W6 & forg S9! Yafid TR, v a9 il & B S |
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Options:
a) equal
ENER

b) less
DH

c) greater

d) equal to infinity
AT F IR

Correct Answer: greater

Question 55.1In history of earth, more coal has been used since

gt 3 gfaerr & TR Bid B Tk ANWE |
Options:
a) 1930

b) 1935
c) 1940

d) 1945
Correct Answer: 1945

Question 56.If two vectors have same magnitude and are parallel to each other, then they are said to be

Ife 3 A= BT URATT THH 81 3R T gER &b THIR 81 ol I8 Hean & :
Options:

a) same

q

b) different

STHAT

c) negative

BUMHD

d) equal

ENER

Correct Answer: equal
ENER

Question 57.The ability of a material to remain magnetized after removal of the magnetizing force is known as-

TEPIT I Bl g b a1e ot 7l uerl B T B SR R P &mdT B T B & ?
Options:

a) permeability

ORIl

b) reluctance

c) hysteresis
d) retentivity
BIGEIRG)

Correct Answer: retentivity

Question 58.Value of constant k (m/F) in Coloumb's law has value of

o FaH § fRRI® k (m/F) BIAFA EITS ©
Options:
a) 9x10*

b) 9X10°
c) 9x106

d) 9x10°
Correct Answer: 9x10°

Question 59.Like a resonant R-L-C circuit,a parallel resonant circuit also

T ¥SHe RLC IRUY & THAM, Th THMR Yoie arRay oft :
Options:

a) has a power factor of unitty

SHTS B Alad UeH ST 8 |

b) offers minimum impedance

TATH TS UM BT 37 |

c) draws maximum current

SHFHTT 4RI JeH FRATE |

d) magnifies current

YRT BT AT FRATR |
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Correct Answer: has a power factor of unitty

SHTE I WM 9H gl B |

Question 60.The resistance of a 100 W, 200 V lamp is

100 W, 200 V 9T AT &1 TfoRIear gl :
Options:
a) 100 ohm

b) 400 ohm
c) 1600 ohm

d) 200 ohm
Correct Answer: 400 ohm

Question 61.A constant current source supplies a electric current of 200 mA to a load of 2kQ. When the load changed to 100, the load current will be

T FTd Fe T 2kQ TR 200 mA FAfRE FRE UM HRAT 8 | IF IS Bl 100Q ¥ F&a 331 SI1a 8, Ot e Hee g :
Options:
a) 9mA

b) 4A
c) 4mA

d) 400mA
Correct Answer: 4A

Question 62.Two incandescent light bulbs of 40 W and 60 W rating are connected in series across the mains. Then

40W 3R 60W AT & 3 IE THIT A A J ot A S €, ol :
Options:

a) the bulbs together consume 100 W

S Sed U T 100W |ad BT

b) the bulbs together consume 50 W

Sl Ses U T 50W TUd BT

c) the 60 W bulb glows brighter

60W T Sesl AR e T

d) the 40 bulb glows brighter

40W T Sed 31feeh et g

Correct Answer: the 40 bulb glows brighter
40W &1 Sed 3 g

Question 63.The magnetic flux density in an air-cooled coils is 102 wb/m2. With a cast iron of relative permeability 100 inserted, the flux density will become

TP TR-FE ol H gao 1T Tead T 1072 wb/m? B | 100 TT0ef URITRIT a1d U Godl Tigl HR B! AR R OR U icd g SfTa -
Options:
a) 104 wb/m?

b) 10** wb/m?
c) 102 wb/m?
d) 1 wb/m?

Correct Answer: 1 wb/m?

Question 64.If an electron enters a uniform magnetic field obliquely, the path of an electron will become

IR U gAdeH U SURaR] Jedtd & A TR Uaw a1 €, @) 39 gaae i 1 7 81 S
Options:
a) an ellipse

b) a circle
c) a spiral
d) None of these

TH A PIE TE

Correct Answer: a spiral

Question 65.A metallic ring is attached to the wall of a room. When the north pole of a magnet is brought near the ring, the induced current in the ring is

TF FIR B IR J T YIg-aed ST goN 8 | 9 Uh Jad & I Yd Bl aad & THIT R SI1ell & ot I & IR oy geft
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Options:

a) anticlockwise

7S 3! famia fg=m o
b) clockwise

T @) =

c) zero

i)

d) infinite

3d

Correct Answer: anticlockwise

g1 3 faudia fazn

Question 66.Differential Form of Gauss's Theorem can be represented as

T U & R REd w379 3 5 T B ugd a1 ol §

Options:
a)
e ¥
V' 'E £o
b)
E =l Q
(TJ 4mriz,
c) Both
- = _P
V' E =
2 &
B
(TJ 4mriz,
RG]
d) None prhese ]
I Pls T
Correct Answer:
e
V' E £o

Question 67.0hm's Law is applicable to

38T (Ohm's law) BT PRI A 8T 2 -

Options:
a) Resistive Circuits

b) Reactive Circuits
5 g
c) Both Resistive Circuits & Reactive Circuits
TicRTe® uRudi & 9 gt & gl
d) None of these
T A P TRl
Correct Answer: Both Resistive Circuits & Reactive Circuits

iRy gRudl § g ufdfharers gk & g

Question 68.Jule/ Coloumb is the unit of

e/ T 3HE & ?

Options:

a) electric field potential
fagad &= fava

b) potential

faua

c) charge

d) none of these
PIE T el

Correct Answer: charge

Question 69.Kirchoff's current law at a junction deals with

fRaRs Hie Fom T §

Options:

a) conservation of energy

Trolf TRefor

b) conservation of momentum

AT TR&T

c) conservation of angular momentum
AT TR&f0T

d) conservation of charge

ST TREUT
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Correct Answer: conservation of charge
SHTART TRETT

Question 70.Thereni's theorem is form of an equivalent circuit

RFAT uAg T gl URUY ST |
Options:

a) voltage

et

b) current

c) both voltage and current
S 3R HRE gt
d) None of the;e

P e

Correct Answer: current

Question 71.A capacitor opposes

TH HURER UfaRIY FRATR :
Options:

a) charge in current

ST BT YRT H

b) charge in voltage

YRT BT [

c) both charge in current and voltage
SHTAT T YT 3R dleest g1 o

d) none

BI TEl

Correct Answer: both charge in current and voltage

ST BT YRT 3R dleel el o

Question 72.The main advantage of a temporary magnet is that we can

TS Y9 BT 7 H T8 &
Options:
a) change the magnetic flux
T Tererd I Saadl
b) use any magnetic material
1S ot gt varf w1 T Rd §
c) decrease in hysteresis loss
& 1 HH BT §
d) none
B el
Correct Answer: change the magnetic flux
TS B geadl §

Question 73.The emf induced in a coil of N turns is given by

N e aTeit Sigd § TSIS emf garg
Options:
a)do /dt

b) N do / dt
) -N do / dt

d) N dt/do
Correct Answer: N do / dt

Question 74.In a step-up transformer, the turn's ratio is 1:2. A Leclancge cell (emf 1.5V) is connected across the primary. The voltage across the secondary is

TP I} TFRIBER H T U 1:2 7. Ui &Y (emf 1.5V) BT dadid I I dpride fpar T . fgdiiae ¥ s dieedr @ 8
Options:
a)3.0Vv

b) 0.75V
c)ovV

d) 15V
Correct Answer: 0V
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Question 75.In the circuit shown below, the op-amps are ideal . Then Vgt in Volts is -
o8 T Ry F offo-Tm 3MERT § | Vo 3T AM (diee) B g —

1 k12 1 k1?

1 k2

Options:
a4

b) 8
c)6

d) 10
Correct Answer: 8

Question 76.In the MOSFET amplifier of the figure, the signal output V1 and V; obey the relationship-

o 7 o3 T MOSFET YRBIR 7 Rret 3m3eye v, 3R V, T Tt g —

i

Options:
a)

V, =

b | =

b)
V,= —=

c)Vi=2V,

d) Vi=-2V,
Correct Answer: V=2V,

Question 77.The capacitor of a CE amplifer appears to be

CE Wil TER o1 $HURCR BT g :
Options:

a) Open to ac

& g 3o

b) Shorted to dc

SR & o Acs

c) Open to supply voltage

3mgfef A & forg ofig=y

d) Shorted to ac
& R ics

Correct Answer: Shorted to ac

Tt & R ds

Question 78.At room temperature, the current in an intrinsic semiconductor is due to

Y 19 0R, SRR srefarcis § YR &1 BRI BaTE |
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Options:
a) holes

b) electrons

c) hales and electrons
B 3R gode g

d) ions

S

Correct Answer: holes and electrons

AISEREREHE

Question 79.If Thyristor is reverse biased, number of blocked P-N Junctions are

IR YRR B! Radf 9109 F T 9, Y sdlies PN SR &t T g1l
Options:

a)l

b) 2

c)3

d) 4
Correct Answer: 2

Question 80.A UJT exhibits negative resistance characteristics when

TS UIT FB0IETe TR SiIceunes g § o :
Options:
a) Current is less than valley current
{ R
b) Current is less than Peak current
Pic Uid Pic § HH gl
c) Current is more than peak current but less than valley current
Fe fidr Bie I 31w ok afer § w9 g
d) None of these
EREREEE )
Correct Answer: Current is more than peak current but less than valley current

Fe Uie P 9 S oIk 9fr 9w g

Question 81.The smallest of the four h-parameter of transistor is

R & IR wa- IRl & 4 g Sler diare
Options:

a) hi

b) hr

c) ho

d) hf
Correct Answer: ho

Question 82.
Symbol represtns
dlecd @ d
Options:

a) Voltage Source
b) Capacitor
ESidliet

c) Current Source

YR T
d) Resistance

Correct Answer: Current Source
YRT Tl

Question 83.Base of Bipolar Junction Transistor is

TIRUIER S SRR BT Y BT e -
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Options:

a) Larger than Emitter

LEEASES

b) Larger than Collector

FAFR 4 T

c) Smaller than Emitter and Collector
THER T HaideR 9 BieT

d) Larger than emitter but smaller than Collector
SES|

Correct Answer: Smaller than Emitter and Collector

Tfer 9 FageR I BieT

Question 84.LED gives off visible light from :

T LED W 3 a1 U1 59 8 A 3R
Options:
a) region off depletion layer
qdg
b) p region alone
Pad P EA Y
c) n region alone
HIAn &I Y
d) both p and n regions
p 3R n & EHI &
Correct Answer: region off depletion layer
fSufe wag &=

Question 85.In a common base transistor circuit Ic=0.97 pA, Ig=30pA the circuit gain a is

TF HA 39 ¢forer IRTY F 1=0.97 A, Ig=30pA, TfFec M a g

Options:
a) 0.97

b) 0.097
c) 95

d) 500
Correct Answer: 500

Question 86.The loop gain of a Schmitt Trigger is always

e 7R 1 o 15 ga=n
Options:
a)o

b) Less than 1
1959

c) Greater than 1
19 e

d) None

BIg I8!
Correct Answer: Greater than 1
1 Srer

Question 87.The capacitive effects of a reverse biased PN Junction are described by

frodd sares ft @7 SfoRM & FURied Thdey 9% §RT e fohd OTd &
Options:
a) Storage capacitance

b) Diffusion capacitance

c) Junction capacitance
SR

d) All of these

IWRiad T

Correct Answer: Junction capacitance
SR

Question 88.In Insulators, the energy gap between valence and conduction bands is overlapped

AR ¥, IO 3R eheH o § TR Ay gaTe
Options:
a) very small

dgd oH
b) very large
g 3P

c) overlapped

d)lev
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Correct Answer: very large

EREEIRED
Question 89.A field-effect transistor (FET)

Wies 3hac ¢forex (FET)

Options:

a) has three pn junction

T ¥ pn SR ;

b) uses a forward biased junction

HRIS Y AR B TN g g |

c) depends on the variation of a reverse voltage for its operation
T e & o Radf dieew & uRadd W R a=arg |

d) depends on the variation of magnetic field for its operation
TP TETeH & o geig 89 & uRad R R s g |
Correct Answer: depends on the variation of a reverse voltage for its operation

3P e & fore R diees & uRada R AR a=ar® |

Question 90.In a feedback amplifier, de-sensitivity D equals

Fead TEiemR 7, f3-3Rfkfad b FRREAE |
Options:
a) A

b) 1-AB

c) 1+AB

d) 1/1+AB

Correct Answer: 1+AB

Question 91.The costliest coupling is

Fa @dfen Hufer :

Options:

a) RC cqupling

RC

b) Direct coupling
PrfenT

c) Impedance coupling

d) Transformer coupling

Correct Answer: Transformer coupling

Question 92.A Zener diode is used as

SR STANS &1 TGN Fe@e |
Options:
a) an amplifier

b) a voltage regulator
c) a rectifier

d) a multivibrator

Correct Answer: a voltage regulator

Feew TRR

Question 93.The noise margin of a TTL gate is about -

@ & udt e &1 IS JH (noise margin) TTHT fhaT 81T R ?
Options:
a)0.2V

b) 0.4V
c) 0.6V

d) 0.8V
Correct Answer: 0.4V

Question 94.Bistable multivibrator is also known as-

TR Ao [aTzsie’ BT T f ST S § -
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Options:
a) Binary

b) Flip-flop
[ESERI
c) Eceless Jordan Circuit

Tho Siie gRay
d) All of these
IRIad Tt

Correct Answer: All of these

Question 95.The minimum number of two input NAND Gates required to implement two input NOR Gate is

3 g7Ye NOR Tie & firaraa & fow snaxaes NAND T &1 =gAdw TR :
Options:

a)2

b) 3

c)4

d)5

Correct Answer: 4

Question 96.How is a J-K flip-flop made to toggle?

1K TRIT wITT 1 R STer T o bl § ?
Options:
a)l=1K=1

b)J=0,K=1
©J=1,K=0

d)J=0,K=0
Correct Answer: J=1,K=1

Question 97.The minimum number of two input NOR & NAND gates required to implement a "Buffer function is

TF "R HaRME" & harage & T A fa &1 379 NOR 3R NAND T 3T Sra<aesd gii ?
Options:

a) 2 NOR Gates

2 NOR e

b) 2 NAND Gates

2 NAND ¢

) 1 NAND & 1 NOR Gate

1 NAND 3R 1 NOR €

d) All of these

IRiad T

Correct Answer: All of these

Question 98.A Shift register is operating/connected with 100 KHz clock. The time taken to feed the 2 Bytes of data serially in to it is

T Rite PR 100 KHz Felich A ST T | 2 T2 STeT Bl 39 STa- A 7 aral 993 §
Options:
a) 2 psec

b) 80 psec
c) 160 psec
d) 16 psec

Correct Answer: 160 psec

Question 99.A 12 MHz clock frequency is applied to a cascaded counter containing a modulus-5 counter, a modulus-8 counter, and two modulus-10 counters. The
lowest output frequency possible is

HISIT-5 BIIeR, HISYT-8 PRICR 3R &l HISYT-10 BRI AT PRIBS BIex & 12 MHz Tl SATgfa 1 AT ST § | Fyd A 33y Agfa il
Options:

a) 30 kHz

b) 3 kHz

c) 363.6 KHz

d) None of these

T A B T

Correct Answer: 3 kHz
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Question 100.A 4-bit R/2R digital-to-analog (DAC) converter has a reference of 5 volts. What is the analog output for the input code 1010.

T 4-f9e R/2R f3fed ¢ TGN (DAC) H-adx B TeaidT 5 diecd § | ST HIS 1010 HT TATANT 3MSTYL 3 @
Options:
a) 0.3125V

b) 3.125V
€) 1.5625 V

d)3.75V
Correct Answer: 3.125V

Question 101.Signals from 4 channel sources are to be transmitted through a single transmission channel. The circuit that can be used is

4-39 TN ¥ Rrd T <iaHiRe 99d & gRT CiiHie 31 ST € | SUTNT 8 aTel aRuY |
Options:
a) code converter

DI FACR
b) decoder
fSPrex

c) multiplexer

d) all of these
I T

Correct Answer: multiplexer

Question 102.1In differential amplifier, CMRR can be improved by using an increased

e Rme TfiBrR §, CMRR § GUR a1 o T 8, 399 gig &1 Sud e
Options:
a) emitter resistance

b) collector resistance
gieRlY

c) power supply voltages

ek

d) source resistance

i ufoRY

Correct Answer: emitter resistance

TR UfeRty

Question 103.Quantization error ocurres in Systems

EaGET RS 31? (quantization error) RRcA A I g g -
Options:
a) Analog to Digital Conversion
AT 9 fSfored
b) Digital to Analog Conversion
I T
c) Both Analog to Digital Conversion & Digital to Analog Conversion
I ) T G
d) None of these
19 A IS TE
Correct Answer: Analog to Digital Conversion
LSIKIE

Question 104.A flip-flop can store

e {TRA-UiTd I8 R e §
Options:

a) 1 bit of data

Srr ot 1 fae

b) 2 bits of data

SEIH 2 e

c) 3 bits of data

eI 3 fae

d) 4 bits of data

TEIHI 4 e

Correct Answer: 4 bits of data
SEIHI 4 fae

Question 105.Which of the following memories requires refreshing cycle?

78 9 fog A9 &1 R R =1 =T
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Options:
a) RAM

b) ROM

c) dynamic MOS
MOS

d) All of these

I wff

Correct Answer: dynamic MOS
MOS

Question 106.Unit distance codes are also called as

Options:
a) Cyclic Codes
Rfeas Higd

b) Non Cyclic codes
9 HSFID DIgH
c) Error codes

TR Pigd

d) All of these
I Tt

Correct Answer: Cyclic Codes

Question 107.The number of NAND Gates required to implement Ex-OR and Ex-NOR gates are respectively

TH-3IR 3R THY-AR e & HRGT P T HH: - s ey & AaRTHaT g .
Options:

a)2and3

23R3

b) 3 and 2

38R 2

c)4and5

43R5

d)4and 3

43R 3

Correct Answer: 4 and 5
43R5

Question 108.The device which selects one of the several inputs and transmits it to a single output is

IE f3aTEY ol $B TTYC B! TAHR Thdl 3HTFCYE USH P! & :
Options:

a) decoder

b) multiplexer

c) de-multiplexer

d) counter

Correct Answer: multiplexer

Question 109.Which out of the following logic families is most expensive?

o & 3 o1 O v i 9o T | ?
Options:
a) RTL

b) TTL
) DTL

d) ECL
Correct Answer: RTL

Question 110.Switching speed of ECL logic is very high because
ECL iiforep o1 wifei wiis sgd el gidt & adi
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Options:

a) it uses positive logic

g YFTAD AOTD BT TART IRAT S |

b) it uses negative logic

Ig FHUIHE Tt Bl TN HRalT § |

c) it uses high speed transistors

Ig I T ¢foReR BT UANT SR § |

d) its transistors remain unsaturated

¢ g

Correct Answer: its transist%ors remain unsaturated

I

X

Question 111.As the load is increased, the speed of a dc shunt motor -

T HR (TS ) TGTT 91 3, RTURT 3 [ex 31 i -
Options:
a) Increases proportionately

TUF U H Fgdt

b) Remains constant

c) Increases slightly

TSt 9 Wl §

d) Reduces slightly

A < 7 gl 7

Correct Answer: Reduces slightly

ISR FT N T

Question 112.At relatively light loads, transformer efficiency is low because-

3P Teob HR (TS ) Bl FRURY & TR THR Bt el B gl € T -
Options:
a) Secondary output is low
farfa u g §
b) Trensformer losses are high

TR 81 offde gt &

c) Fixed loss is high in proportion to the output

=rf g1 fefd & srura |

d) Cu loss is small
TG g1 Y gkt 8
Correct Answer: Fixed loss is high in proportion to the output

R g1 fefa & srgoma &

Question 113.The function of a cycloconverter is to convert -

T HaER BT B ¥ oRaffd s g |
Options:
a) AC power into DC power
EINEARCRUIN
b) Direct current to alternating current
fm-4RT Y yaTadf UrT
c) High ac frequency directly to low ac frequency

I ymad! Sghy @AY

d) A sine wave into a rectangular wave
T sine I &I STATBR(rectangular) T
Correct Answer: High ac frequency directly to low ac frequency

I TGt Sgf & ¥e g et

Question 114.In pulse width modulation of chopper-

TR & I Iy ArsgaR= & -

Options:

a) T is kept constant and Tgp, is varied

T %! RRR @I R 3R T, &1 URafla fban Simar &
b) Ton is kept constant T is varied

Ton P! RRR @11 R IR T 1 uRafda fbar smar &
c) both T and Ty, are varied

T 3R Ty, S 1 URafid o wmar &

d) either T or Ty, is varied

T 3R T, § A el ueb o1 uRafcla fbar wmen &

Correct Answer: T is kept constant and T, is varied

T & fRR TG 1T § 38R T,y Y uRafla fbar Srar @

Question 115.An electron having mass 'm' kg and charge 'e' coulomb travels from rest through a potential difference of 'V' volts. It has a kinetic energy of ?

T ToIde H ST S| 'm' 3R 1A% 'e' BIaRe 8, i Aawl I fIUGiR 'V dlecd B T BT § | SHab! TIfT St 11T :
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Options:

a) mV joules

b) m eV joules

c) eV joules

d) m/e joules

Correct Answer: eV joules

Question 116.The maximum flux density in the core of a 250/3000-volts, 50-Hz single phase transformer is 1.2Wb/m?2. If the e.m.f per turn is 8 volt. Then what is the
value of primary and secondary turns

250/3000-d1eed 50-Hz RITA Bt TREpITR 3 3ifiichad e SR 1.2wb/m? § | afe Suruws ufd & 8 afee 81 oY wrgmdt ok IF=dt gfie T A= §
Options:
a) 208 & 32

b) 375 & 32
c) 208 & 375

d) 32 & 375
Correct Answer: 32 & 375

Question 117.In synchronous motor, damper winding is provided in order to

T Rigw g diex ¥ St AR ¥ fo yeH S SR F |
Options:

a) stabilize rotor motion

e T BT RIRR HAT

b) suppress rotor oscillation

AR CIECIE]!

c) develop necessary starting torque

TP TR SN ARG BT

d) both stabilize rotor motion and develop necessary starting torque
e T BT IR FHRAT 3R ATaTLH YRS <l [IBRIT BT S
Correct Answer: both stabilize rotor motion and develop necessary starting torque
e T Y IR HAT 3R SHTaLH YR <l [BRIT BT

Question 118.Circuit turn-off time of an SCR is defined as the time

SCR &1 uRuy ¢ 3ffth <1eH T @ a1 99T & =0 § gRUId a5 § |
Options:

a) taken by the SCR turn to be off

¥& §H | SCR gRI foram an vy

b) required for the SCR current to become zero

SCR T &I LI &H | SMaxTH

c) for which the SCR is reverse biased by the commutation circuit

PR URUY gRT SCR &I e I v & forw

d) for which the SCR is reverse biased to reduce its current below the holding current

BIST Hic Y HIC HH B A Jb1 & AT SCR & R g g &

Correct Answer: for which the SCR is reverse biased by the commutation circuit

FHRICYA URUY GRT SCR B! Rl a0 A &

Question 119.Capacitors with solid dielectric materials are used because

BN SE-3aifae e yarl aTel HURieR B SUUNT ST & Fiifh
Options:
a) they give a reduced dielectric loss
g : :
b) they are smaller in size as compared with air capacitors
3 91g BUReRt B ger & BIe B §
c) they have a lower capacitance value as compared with air capacitors

I

d) none of these
T A Bs el
Correct Answer: they are smaIIer in size as compared with air capacitors

3 I1g HORYRT B ET A BIR
Question 120.The output of three Phase simple half wave rectifier is also called as

ot o1 R 1efas RpeRt (8TF 39 YPRBRR) &t 38y 7% +ff Hear &
Options:

a) Pulse number six

TE AR D

b) Pulse number three

e R o

c) Pulse number four

T JR IR

d) Pulse number two

I TR

Correct Answer: Pulse number three
e R o
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Question 121.0ne TR (Unit of Refrigeration) is equal to

T TR (Ui Bl 5p1E) e SRR 8T &
Options:
a) 3.157 KW

b) 5.317 KW
¢) 3.715 KW

d) 3.517 KW
Correct Answer: 3.517 KW

Question 122.For extra high voltage lines which circuit breaker is preferred ?

$° Tge di° ARA P I8 & o HH-3 uRuY FaR B o fear Sar g 2
Options:
a) SF6 gas circuit breaker

b) Bulk oil circuit breaker
e 3ffsq Ffhe SR
c) Vacuum circuit breaker

JHgH Tfhe SR

d) Minimum oil circuit breaker
TraH s Hibe s

Correct Answer: SF6 gas circuit breaker

Question 123.1In single phase full converter, for load current I ripple free, average thyristor current is -----------

THd B Jd R B A8 YR
Options:

a) 1/41

b) 1/21

c)3/41

d)I
Correct Answer: 1/21

Question 124.A carrier is simultaneously amplitude modulated by two sine waves with modulation indices of 0.4 and 0.3. The resultant modulation index will be:

TS dI8eh B! T 9y ol Wiz a3l § Yicregs Hieyde b Sl 8 | ATSeR Gahic 0.4 and 0.3 ¥ | IRUTH AlSe= gadis gim-

Options:
a) 0.1

b) 0.5
c) 0.7

d) 0.35
Correct Answer: 0.5

Question 125.Indicate the wrong statement regarding modulation

TISgARA ¥ HarId Tad fewoft o $fd &% |
Options:

a) Ensure that intellegence is transmitted over long distance
T 1 et g O Ao YR FRaT R |

b) Separate differing transmission

SGAM TR Bl 3feRT Bl &

c) Reduce the bandwidth used

TR B aTeht YSfigy & HH FRAT S |

d) Allows the use of practical antennas
feehar 3T & IuET &) ggAfd 2T ® |
Correct Answer: Reduce the bandwidth used

B gl Sefsy Bl FH FRATR |

Question 126.Which one of the following modulation techniques has got maximum SNR

faffad o @ oF & Aoz de-ie ifiiead SNR 3t 8 ?
Options:
a) AM-SSB

b) AM-DSB
c) FM

d) AM-SC
Correct Answer: FM
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Question 127.The number of symbols in Quadrature phase shift keying is

DR ol Rt P ¥ Riga &t dam
Options:
a) Two

b) Four
IR

c) Eight
3{1S

d) Sixteen

Correct Answer: Four
IR

Question 128.During amplitude modulation, the phase angle of the modulation voltage changes

ST HISCRM & SIS HISYelie T diecs BT ol T J uRad g o §
Options:
a) 45 degree

b) 180 degree
c) 90 degree

d) zero degree
Correct Answer: zero degree

Question 129.The modulation index of a phase modulated wave is

B Aleguics A PIAeeRF sead ___
Options:
a) same as in frequency modulation
TISIARM & THH S ¢ |
b) proportional to the modulating freq%tjency
I
c) proprortional to the reciprocal of modulating frequency

F IHY & SIHIAURN B 7 |
d) proportional to the phase of modulating signal
R

% ol b SIHHARU BT S |

Correct Answer: same as in frequency modulation
FIAF A |

Question 130.Which of the following circuits transmits two messages simultaneously in one direction ?

fFrafafaa uRudf & § SH-91 uRuy < G 3 e 9 e R § Tfid sarg
Options:
a) Duplex

b) Simplex
R

c) Quadruplex
d) Diplex

Correct Answer: Diplex

Question 131.The signals contaminated with large noise are demodulated by

31 R F 7R et ¥ gRI ferisygies fbar o @ |
Options:
z_t) envelop detector

b) synchronous detector

c) envelop detector followed by low pass filter
Tqe fEeder & 91 o U ft

q) envelop detector followed by high pass filter
tae fEeaeR ¥ aIE §18 U fheeR

Correct Answer: synchronous detector

Question 132.The beat frequency between 1500 KHz and 1955 KHz will be

1500 KHz Td 1955 KHz & sTg Wg 3gfa EHulll
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Options:
a) 455 KHz

b) 100 KHz
c) 150 KHz

d) 195.5 KHz
Correct Answer: 455 KHz

Question 133.A trimmer is basically, a

CTR 4ad : g
Options:

a) insulator

SEINED

b) inductor

c) capacitor
d) variable resistor

Correct Answer: capacitor

Question 134.The quality factor Q of a cavity resonator at a given frequency for higher mode orders

SUETHd I TS & fore faseht &) 778 engfa iR Hfach srgAIes &1 SHEdl i
Options:

a) decreases

YT W1}

b) remains unaffected
SyuIfad T g

c) increases

Cravin RS

d) none of these

9 A1 TE

Correct Answer: increases
G Il §

Question 135.The total information transmitted is proportional to

THAWNAGET__ F IHAu g |
Options:
a) bandwidth-time product
Yefagy-Tma & UEBd
b) channel capacity
BT T
¢) bandwidth-capacity product
defagy-emd & UHwd
d) none of these
9 A IS e
Correct Answer: bandwidth-time product
JSfISy-THg & UHmd

Question 136.ISDN facility is available in following switching technologies'

ISDN gRwr Fafafad 7 9 A Iuas gt |
Options:
a) E-10B

b) Cross-bar'
PN TR
c) Strowger

d) OCB
Correct Answer: Strowger

Question 137.Which one of the following statement is not correct for a transmission line ?
A.  Attenuation constant of a lossless line is always zero

B. Characteristic impedance of both lossless and distortionless line is real

C.  Attenuation constant of a distortionless line is always zero.

TR AR F A T B HYT T TS |

A, B fRd TR 1A BT &fivH i SRR I B |

B. ol fed TRyl erg 3R g1 Xed TR T cil B Sifiereiires ysTer ardide gl g |
c. Rl fRd daru erg @ &ive Fradie gdn g garg |
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Options:
a)A

b) B
c)C

d) Both A and C.
A 3R C gHt

Correct Answer: C

Question 138.1In electrical circuits states that for a response (voltage or current) in any branch of a bilateral linear circuit having more than one independent source
equals the algebraic sum of the responses caused by each independent source acting alone

%@W&%Ww%%%%ﬁ@ﬁ@u@wﬁmwﬁ(ahévrmmm) frqug & v Waa Tid gR1 il oM e Red & dfisia
S & IR |

Options:
a) Norton Theorm

b) Thevnin Therom
34 T

c) Superposition Theorm

d) Duality Theorm
L)

Correct Answer: Superposition Theorm

Question 139.In a certain parallel resonant band-pass filter, the resonant frequency is 14 kHz. If the bandwidth is 4 kHz, the lower frequency

T R THARR SAE S U #, 3FHIE 3MgHd 14 KHz € | IR SSiagy 4 KHz § o e amgfa gt -
Options:
a) is 12 kHz

b) is 7 kHz
c) is 10 kHz

d) cannot be determined
feffa 7 &t o1 T & |

Correct Answer: is 12 kHz

Question 140.At a certain frequency, the output voltage of a filter is 6 V and the input is 12 V. The voltage ratio in decibels is

& P smafa ¥, freex 3 33y dieew 6V 3R Ye 12 V § | SRSa & diecs oMU @
Options:

a) -12.04 dB

b) 12.04 dB

c) -6.02 dB

d) 6.02 dB
Correct Answer: —6.02 dB

Question 141.A 26 dBm output in watts equals to

26 dBY 3T3CYE GIc § RISR A1 €
Options:
a) 2.4W

b) 0.26W
c) 0.156W

d) 0.4W
Correct Answer: 0.4W

Question 142.The length of Physical Address (MAC) in IPV6 is

1PV6 ¥ fpTorehel TS (MAC) &1 TiaT Eit @ -
Options:

a) Same as that in IPV 4

IPV4 & 0

b) More than that in IPV 4

PV 4 9 3%

c) Less than that in IPV 4

IPV4 Q&1

d) None of these

T8 A B T
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Correct Answer: Same as that in IPV 4
IPV4 & I

Question 143.Capacitance, Voltage and Charge are related as:

IR (FURIE), Fees Td AT v YhR Taid ¢ -
Options:
a) Q=CVv

b) C=QV
€) V=QC

d) None of these
Correct Answer: Q=CV

Question 144.A network having a battery source in one of its arms is termed as

T Jead orTs! T IRaT H 9t Aid 9918, 98 _ Hull
Options:
a) Linear network
& ead
b) bilateral network
Jead

c) active network
fhy Aead

d) passive network

Correct Answer: active network

Question 145.A m-derived LPF has f co position

TH m-S5a8 qU ¥ foo UM
Options:

a) above f,

B fe

b) below f

I f.

c) at zero

AW

d) at infinity

3Fd R

Correct Answer: above f¢
B f¢

Question 146.Condition for minimum distortion at all frequencies for a transmission line is

T ZHT e & fore vt erafa wR Ay feaRiet =t
Options:
a) LR=CG

b) LC=GR
) LG=CR

d) None
BIE Te!

Correct Answer: LC=GR

Question 147.1If four 80 micro farad capacitors are connected in series, the net capacitance is

TR 80 AIEHI e Aot & 2 §, & 37701 Ha HuRe—q
Options:
a) 20 micro farads

20 TS s

b) 40 micro farads
40 wEeH! e

c) 160 micro farads

160 TTEThH! e
d) 320 microfarads
320 HIZH! s

Correct Answer: 40 micro farads

40 ATSH! W3S

Question 148.The Kirchoff s laws fail in
et o H B g T |
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Options:

a) lumped parameters circuit

s Rufier ufuy

b) distributed parameter circuit
oy

c) non linear circuits

qRuy
d) linear circuits
iy
Correct Answer: non linear circuits

R uRay

Question 149.A coil has an inductance of 1 henry if a current changing at the rate of 1 amp/sec

TS PI5a P 359 1 34 8 IR e uRadH P R 1 THER/AHS 3 -
Options:

a) induces 1 volt in another coil

T P & 1 Flee ST HRATR

b) causes a back emf of 1 volt

% BRUT 1 Tlec 9 emf T &

c) causes an aiding emf of 1 volt

% BRUT 1 Tlee TUST emf AT S

d) causes transformer action.

& BRU TR TIRMA 811 &

Correct Answer: causes a back emf of 1 volt

P PHRUT 1 diee 9P emf BT

Question 150. The current through the coil of an electromagnet is doubled. The magnetic field around the coil-

T Igad TP B HUSH! I YaIRd HRT BT g7 B AT oIl © | HUSTH B IR 3R FraBI & -

Options:

a) is halved
78T BT SR
b) is doubled
QT B SR

c) becomes four times

TR T[T G SR

d) remains the same

Correct Answer: is doubled

ST &1 ST

T G Bi5e WIS BT JUGV B HH URRIYD e BT TANT H3b & &0 8 W UG fbar 91 WhaT ¢ |
Options:
a) voltmeters

Question 151.A moving-coil permanent-magnet instrument can be used as by using a low resistance shunt

b) ammeters
c) ohmmeters and resistance bridges

d) All of these
IWRiad T

Correct Answer: ammeters

Question 152.Standard resistor is made from

TS UfoRIYS §7d & :
Options:

a) platinum

b) manganin

c}.l silver

d) nighrome

Correct Answer: manganin

Question 153.Which of the following voltmeters would you use for measuring voltage across 20 kQ resistance

Fofafad 7 § f& diectier &1 UaiT 20 kQ URRIYS & 311 diees Y & faw 31 ?
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Options:
a) Voltmeter having a resistance of 5 kQ
5 kQ TRRIYGaT arar
b) Voltmeter having a sensitivity of 1 kW/V
1 kw/V HaeTiteraT arar dleetiex
c) Voltmeter having sensitivity of 10 kW/V
10 kW/V &I areT dlecHiex
d) None of these
[ 9 Ig Tl
Correct Answer: Voltmeter having sensitivity of 10 kW/V

10 kW/V Tac-T2ierar are dieeHiey

Question 154.In a measurement systems, which of the following static characteristic are desirable.

& 91 yurrel 7, Faffad § 3 oF Qfte fRvaraiea ® 2
Options:
a) accuracy

b) sensitivity

c) reproducibility
d) All of these

Correct Answer: All of these

Question 155.PSK is

PSK UbR BT ATSIAT &
Options:

a) Agalog

TN

b) Digital

fSRrea

type of modulation

g) Amplitude

d) Angle
W (angle)
Correct Answer: Digital

Question 156.The Speed of the Modems could be increased from 9.6 Kbps to Higher by

Tiew @t 1M 9.6 FATH | IR TgIs o Thell &
Options:

a) Increasing the Compression rate

TYTE (compression) &R FGIER

b) Using High Class decoding

I TR FSDIST BT TN

c) Use of Parity bits for error check

e S ¥ forg IR e &1 v B

d) Simultaneous Transmission of Signals

Tohdll BT T A TR b

Correct Answer: Use of Parity bits for error check

e S & forg AR foew 1 v b

Question 157.The minimum standing waves occur where reflection coefficient is

EERNCRERIICECREIC]
Options:
a) zero

T
b) 1
c)-1

d) none of thege
I P T

Correct Answer: 1

Question 158.Attenuator have

WRA__ Fdig |

B © oY AaH IR T I SN R |
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Options:
a) attenuation constant

b) phase constant

c) gain and phase constant

T w3 e R

d) attenuation and phase constant
ot .

Correct Answer: attenuation constant

Question 159.The quality factor 'Q' of an-inductance coil is improved

SHR P HICE! Boex Q IR AT S

Options:

a) by reducing coil resistance to minimum
P AT qH FH XD

b) by increasing coil inductance-

3599 Bl dgH & forg

c) by increasing coil resistance to the maximum
B 3ifibad I sem & R

d) by reducing coil inductance.

SSCT B HH B

Correct Answer: by increasing coil resistance to the maximum

PR TS B! ffbdH dP JeM & o

Question 160.Moving coil meter is used to measure only ____

g ega iR HIITEIHad_ AT A IAS |
Options:
a)D.C.

b) A.C.

wi

c)D.C. and A.C.
S SR Wit

d) None of these
IRIed § I FIS el

Correct Answer: D.C. and A.C.

Question 161.Energy is given by the product of
Sl F OHA & T H Rar o Thar g |

Options:

a) force and time

9 3R 99

b) time and power
qHg

c) power and distance
T 3R g

d) force and distance
ad

Correct Answer: power and distance
g SR

Question 162.The frequency range of vibrating reed frequency meter is

st s ey T e I fherii¥sr _ griig |
Options:

a) 67 Hz to 83 Hz

67 Hz ¥ 83 Hz

b) 50 Hz to 100 Hz

50 Hz ¥ 100 Hz

c) 47 Hz to 53 Hz

47 Hz ¥ 53 Hz

d) 60 Hz to 100 Hz

60 Hz ¥ 100 Hz

Correct Answer: 60 Hz to 100 Hz
60 Hz ¥ 100 Hz
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Question 163.A feedback control system is shown in fig. The transfer function for this system is-

o 7 U wigsw g0 yuredt gifd 7E § | 3T Yot o1 TRIR W g -

Options:
a)
Gy Gy

(1+ H,6,6,G3)

b)
G: Gg

Gy (1 4+ Hi Gy G3)

)
(o Gy

(1+ Hy616,G3)

d
GGy

(1+ H,6,6,G3)

Correct Answer:
G0y

Gi(1 + HiG2G3)

Question 164.If the gain of the loop system is doubled the gain margin of the system is

I qu Rikew & T & Saat R 3 e & Riew &1 719 Aifsi g
Options:
a) Not Affepted

gHifad T g

b) Doubled

Gl

c) Halved

31T

d) one fourth of orginal value
o 9H &1 9

Correct Answer: Halved
31T

Question 165.G(s)= 1/s(1+6s) the system is
G(s)= 1/s(1+6s) Rreq §

Options:

a) Stable

=yt

b) Unstable

c) marginally Stable

T 7 it

d) Conditionally Stable

EIGEIRGET ]

Correct Answer: marginally Stable

3T I TRf

Question 166.Sinusoidal oscillator are

RS QR g |
Options:

a) stable

=yt

b) Unstable

c) marginally Stable

TS T IR

d) Conditionally Stable
PIREIREEST il

Correct Answer: Unstable

Question 167.With respect to root locus technique for construction of root locus, identify the false statement

T dAHY A0 F R T dAby dao-ie B 3R, TTad fwht & ugang
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Options:

a) The root locus is symmetrical about the real axis

Fe died Rad 3 & dnfewhd s giarg |

b) The root locus technique is powerful tool for adjusting the location of closed loop poles to achieve the desired system performance by varying one or more system
parametres.

TF A1 T ¥ 31 Rew IWflex &) seaas e Ried UekF & UR & O aeiie qu Tid 3 Aid= & JHRI $1 & ¥ diey A te wfwmd ¢a g |
c) segments of the real axis having an odd number of real axis open-loop poles plus zeros to their right are parts of the root locus.

TS favT SR & aRAfdd Sef U qU Ui & WS Aied 3% 8 H Y FT AhY BT YN |

d) None of these

9 A SIS T

Correct Answer: None of these

T A B TRl

Question 168.In the standard form of closed loop transfer function of second order system is given by C(s)/R(s)= wzn /52+2qwns+w2n The damping ratio ¢ =1 then
the roots are

Uhg TSR RCH B oS U TRIBR HaRH Bt AHS BIF o 1 C(s)/R(S)= 0y /52+2¢wps+n?, ST ™M ¢ =1 §, A Fea gt

Options:
a) purely imaginary
PIAHD

b) real and equal
LG
c) real and unequal
SHHE
d) None of these
9 A BIE 6
Correct Answer: real and equal
3R T

Question 169.The statements that holds good for relative stability analysis is

frafes wfafadt vfeftm & fo Ifad fewoft §

Options:

a) Routh array method can not be used

Y T fAfy 1 v AR o o e |

b) graphical methods can not be used

oot A T i e faar S e ® |

c) graphical method can be used but Routh array can not be used

o1 AR BT TENT fa ST ebaT & TR ISy W T UENT A fohar ST ¥ @ |
d) both graphical as well as Routh array can be used

BT 3R AHY W ST BT TN 5T S Jha @ |

Correct Answer: both graphical as well as Routh array can be used

MBI 3R JAHY W ST BT TN 50T oI Jhar § |

Question 170.A servo system must have

& gdi Ren § g1 =Ry
Options:
a) feedback system

b) power amplifier to amplify error
IR I IR &7 & AT UIaR TUawRR
c) capacity to control position or its derivative
1 D DSl &b HIATT DY &l
d) all of these
it

Correct Answer: all of these

Question 171.For the characteristic equation 2s3 + 4s2 + 4s + 12 = 0 the number of roots with positive real parts is

SHTUCTETOTS THIHROT 253 + 452 + 45 + 12 = 0 & oL Q! & AR HRT YD BHT |
Options:

a) none

BI Tl

b) one

T
c) two

d) three
GiE]

Correct Answer: two

Question 172.The transfer function is applicable to

TABR e ¥ fog Iwarfi g |
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Options:
a) linear system only

FHad W e

b) non linear system only

c) linear and time invariant system

T T Ta-RR Fer

d) linear and time variant system
qHg

Correct Answer: linear and time invariant system

Y& g gHa-fRR fem

Question 173.For a system having transfer function P(s)=2/(s+2), the phase shift will be

TP R T TRIHR e P(s)=2/(s+2) 8, PIelicR Bl A 2
Options:
a) tan’! (1/3)

b) 1/tan’ (2/3)

c) tan'! (3/4)

d) tan! (1/2)

Correct Answer: tan™! (1/2)

Question 174.The temperature of a thermal system is analog of ____

e Rped &1 aaAm JERAR |
Options:

a) Voltage

Clges]

b) Current
P
c) Capacitance

d) Inductance

Correct Answer: Voltage

Question 175.Choose the non-linear systems from the following

foffed & ¥ il Ren sl g

Options:

a) Servo motors under saturation range operation
JRIA ¥ & 3fafa Tt diex

b) Temperature controlled furnace

GlEEICRED!

c) Automatic voltage stabilizers

d) All of these
IWiad Tt

Correct Answer: All of these

Question 176.The contents of register (B) and accumulator (A) of 8085 microprocessor are 49y and 3Ay respectively. The contents of A and status of carry (CY) and
sign (S) after execution SUB B instructions are-

8085 HRHITRRR & AFReR (B) 3R TFHACR (A) b e HHT: 49 3R 3A4 T | SUB B S & FedTe & IWRId A & dhewe 3R B (CY) and g (S) BT Sraer o
gl

Options:

a)A=F1,CY=1,5=1

b)A=0F,CY=1S=1

C©)A=F0,CY=0,S=0

d)A=1F, CY=1,5=1

Correct Answer: A=0F, CY=1,S=1

Question 177.If CS = A15A14A13 is used as the chip select logic of a 4 K RAM in an 8085 system, then its memory range will be -

T CS = Ay5A14A13 BT 8085 ATEHIMIRR e & 4 K RAM & T Talde divier & =0 o SUTNT e SIim & o S9! ARt 3 gl

Downloaded-From:http://sscportal.in


https://career.aglasem.com/

Downloaded-From:http://sscportal.in

Options:

a) 3000 H - 3 FFF H

3000 H - 3 FFF H

b) 7000 H - 7 FFF H

7000 H - 7 FFF H

€) 5000 H - 5 FFF H and 6000 H - 6 FFF H
5000 H - 5 FFF H 3k 6000 H - 6 FFF H
d) 6000 H - 6 FFF H and 7000 H - 7 FFF H
6000 H - 6 FFF H 3k 7000 H - 7 FFF H

Correct Answer: 7000 H - 7 FFF H
7000H -7 FFFH

Question 178.Which interrupt has the highest priority?

g SR ) TTuftedr gatE gl § ?
Options:

a) INTR

b) TRAP

c) RST6.5
d) none of thege
T q B el

Correct Answer: TRAP

Question 179.For which of the following devices, is DMA the most suitable

frofiftad 7 9 o @ fSaey ¥ fn Sy 9o Suge § 2
Options:

a) Hard disk

T %

b) Key board

CIE IS

c) Mouse
A

d) Joy Stick
Srfes

Correct Answer: Hard disk

Question 180.The 8085 MUP is available in pin DIP

8085 MUP & pin DIP U B & |
Options:

a) 60

b) 40

c) 24

d) 14
Correct Answer: 40

Question 181.HOLD & HLDA pair provides the handshaking signals required for
HOLD iR HLDA T SHTREH F o SHawaes 3T Rurd Ue sar g |

Options:
a) UART

b) USART
c) DMA

d) All
it
Correct Answer: DMA

Question 182."Cycle steal" operation is with

"cycle steal" SR FIYEAE |
Options:

a) DMA controller

DMA &eleR

I?) Interrupt Controller

Y D¢
c) Keyboard D[splay Controller
Dlals e

X

d) Microcontroller

Correct Answer: DMA controller

DMA HiaR

operation
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Question 183.Thyristor chopper circuits are emplyed for

UTgREeR IR Uy @ ol § 59 forw

Options:

a) lowering the level of a d.c. voltage
T d.c. Tieedl P &R Pl HH HA

b) rectifying the a.c. voltage

a.c. =i

c) frequency conversion

d) providing commutating circuitry
IRUY F&M ST

Correct Answer: lowering the level of a d.c. voltage
T d.c. Tecdl & TR B HH B

Question 184.Find the incorrect pascal reserved word

T[S TR Refos Xeg BT Ul TG
Options:
a) AND

b) END
) VAR

d) ELSEIF
Correct Answer: ELSEIF

Question 185.Microprocessor is

TRHITRRR BT S :

Options:

a) ALU and memory on a single chip

ALU 3R BORY, U Rira fa o

b) ALU and I/O devices on a smgle chip
et fom &

ALU 3R 1/0 fea=9, T

c) ALU and control unit on a single chip

& R fag ®, ALU @R dgia gfe

d) ALU, register unit and control unit or) a single chip

o e fau & AL, I/ReR gfe oIk deld gie

Correct Answer: ALU, register un|t and control unit on a single chip

& e g & AL, Wqﬁ?

Question 186.Stack pointer bit register.

RS U fSe W g e |
Options:
a)4

b) 8
c) 16

d) 32
Correct Answer: 8

Question 187. 8085 operates with

8085 T TR PRATR |
Options:

a) 1 MHz single phase clock

1 MHz RFTa e ol

b) 2 MHz single phase clock

2 MHz RiTTat Wt aaiieh

c) 2 MHz two phase clock

1 MHz &1 Tof Jlid

d) 3 MHz single phase clock

3 MHz RiTat Wt aaiiep

Correct Answer: 2 MHz two phase clock
1 MHz & B Fl®

Question 188.The address bus of 8085 MPU is

8085 MPU & T3 &9 Haik
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Options:
a) multi directional

b) bi-directional
TR

c) unidirectional

d) None of the_se
IR

Correct Answer: None of these

T8 A IS 8T
Question 189.You can add a row using SQL in a database with which of the following?

ot STeed T SQL BT TGN S Teh Ul SiieA & fordl fbgesT SuiiT b S € 2
Options:
a) ADD

b) CREATE
c) INSERT

d) MAKE
Correct Answer: INSERT

Question 190.SQL stands for
SQL freeT T § 2
Options:

a) Structured Query Language
b) Sequential Query Language

c) Structured Question Language

d) Sequential Question Language
Correct Answer: Structured Query Language

Question 191.Window is

Window %‘ :

Options:

a) GUI based free OS

GUI 3eRa e 0S

b) Non-GUI based free OS
Non-GUI 31eTRd Fgleh 0S

c) GUI based not free OS

GUI 3eRe fRIe® =78t 05

d) Non-GUI based not free OS
Non-GUI 3eie fggess gt oS
Correct Answer: GUI based not free OS
GUI 3eRa fAgLees =78t 05
Question 192.Windows OS is
fferose:

Options:

a) Open Source OS

ST O afied

b) Closed Source OS

Tk IR SNy

c) Open Source but with restrictions
$S Ufdarrstt & Ty 3T IRf
d) None of these

ESEEEER |

Correct Answer: Closed Source OS

Question 193.Printer is

ffex
Options:
a) Input device

b) Output device

c) Memory Device

d) It is not a device
g IS fSagy TeT & |
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Correct Answer: Output device

3M3cye feary

Question 194.In database , Data manipulation language (DML) is not to

ey ¥, S1eT ARYATH HIT (DML) e
Options:
a) create information table in the Database

T I ARt S

b) Insertion of new information in to the database

TS I THE BAT

c) Deletion of information in the database
e & I frerr
d) Updat@on of information in the database
T G Bl 3UST HRAT
Correct Answer: create information table in the Database

T T YRRt ST
Question 195.An active element in a circuit is one

% URYY W TP Wby dd BiaT 7, I8 o7 -
Options:

a) receives energy

Sl Tl Bl &

b) supplies energy

it b SMYfe BT 8

c) both receives and supplies energy
rolt I TRy @R S A ot %
d) none of these

9 A BIE 6

Correct Answer: supplies energy

ol i 3Mgfed e §

Question 196.0ne Giga Byte is equal to

T 17T §18¢ (Giga Byte) SRR § -
Options:
a) 220 Bytes

b) 230 Bytes
c) 202 Bytes

d) 102 Bytes
Correct Answer: 230 Bytes

Question 197.DMA 8237 provides DMA channel.

DMA 8237, DMA T SUT BRIAT S |
Options:
a)8

b) 4
c)2

d1
Correct Answer: 4

Question 198.The number of flow lines leaving a decision box is

vt siea &) BeA ard ol X@rsh & W BRg |
Options:

a) 3 only

Fad 3

b) 1 only
Fad 1
c) 2 only

Fad 2

d) more than 2
29 3w

Correct Answer: 2 only

I 2

Question 199.The standard punched card is divided into columns and rows.

WSS Ua IS Tl wd tfeRral # faifoa g g |
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Options:
a) 12, 40

b) 40,20
c) 80,12

d) 80,20
Correct Answer: 80,12

Question 200.The third generation computers could perform calculations in

TR SFRRM & Bigex T 0T HR FHhd 3 |
Options:
a) milliseconds

b) microseconds
€) nanoseconds

d) pecpseconds

Correct Answer: pecoseconds
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